= AH O
N = 0 &8 AF S & Al A
20129 =4 1 3 B3N CI/S AL ~ S ALY
S A SIS A
M F0 HEY B &2
che: NXH2s IAMHIA WS (oA
2N -3 - c2(3H) - NEME - HES Ol & J &= Hns
IR S AL 1,748,133 1,751,770 A3,637
< 100,000 100,000 0
= 1,648,133 1,651,770 A3,637
F0 Y mHo &2 99,636 94,637 4,999
DMAS OIAMHIA HZ 99,636 94,637 4,999
DHOEE MHI A 85,760 81,160 4,600
405 KHAHE S| 44,600 40,000 4,600
01 AL EEF SHI 44,600 40,000 4,600
OFDISEZ FQSQAIAH RAOOIES , 3H
o AMMH 5HH) 1,000,000 * 4CH 4,000 0 4,000
OXXOI0IX MEDI(OIES) 600,000 * 1CH 600 0 600
OAANS =8 13,876 13,477 399
101 @14 H| 11,876 11,477 399
04 DI 22RsSE% 11,876 11,477 399
OWZAAIR 3 2124H]| g3 9,600,000 9,600 9,278 322
o524 38 1,997,000 1,997 1,930 67
ODn8 2 AMEE 222 23 279,000 279 269 10
S AR 580, 153 588,962 A8,809
FHO XY MHIA 2E 580, 153 588,962 /8,809
NE=g )= 24 2 &% 147,281 146,483 798
101 21244l 23,751 22,953 798
4 IItHZ2Z2XNSE S 23,751 22,953 798
COHEAG ol (QHH) ZEA 19,200,000 19,200 18,555 645
o544 A& 3,994,000 3,994 3,860 134
ong ¢ M BE82 A A 557,000 557 538 19
IHEZAIXIIE ZAF L AHH 201,389 198,996 2,393
101 214 H| 71,251 68,858 2,393
04 DI 22 RsSE% 71,251 68,858 2,393
OMEZAIXIDIEA Q1| Z & 57,600,000 57,600 55,665 1,935
Ox=5=Y 33 11,981,000 11,981 11,579 402
Oong ¢ MeEeE= 23 1,670,000 1,670 1,614 56
gLz 2022 68,210 78,210 10,000
207 A4 eH| 50,000 60,000 A 10,000
01 AR S| 50,000 60,000 A 10,000
O3t SUHY 25EY
33 50,000,000 50,000 60,000 A 10,000
C2Y L HAESHS BAMY 163,273 165,273 A2,000
201 LEL2HH| 72,648 74,648 A2,000
02 S32gH| 3,600 5,600 A2,000
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